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Customer Name:
Card Number:
Statement Dates:

ransaction Date Posting Date
m:ssrnTEMEHT BALANCE —

| Nov. 03

Mow, O7

Nov., 21

Mov. 27

E-a:.rment Information

SN payment
' @TP

yment due date
| {f 541-
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19.50% 7

Activity description Amount (5)

e 542157 &
PAYMENT - THANE YO 3 1_5531;5? .
SHOES <" $55.00 !
Burger King / £10.79 /\rfg’f& {/ 7
Irving Qil 550.38
Calculating your banance
Previous balance 5
Payments & credits 5
Purchases 5
Cash advances 5
Interest 5
Other fees 5

=

Mew Balance

Olivia Cham
458 654 883
Mov. 1, 2011 - Now. 31, 2011
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Sally borrowed $3500 at 6.25% interest for 5 years. g =
1060 = £ -
a) What is her monthly payment? 5.5 % r?'{f‘5 - ﬁ':m;” £ "§1 - i S
b) How much does she pay back to the bank in total? G50 x f;-ff‘m...-": ‘E E €
c) What is the finance charge? ' % s 2 1
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a5 investet $3000 in a savings account which earns 5.21% interest p

pounded quarterly.
rﬁunh will his investment be worth after 5 years?

£ Ynt
p= P(1+7%) e, |
B= so00/ |+ "ﬁf’f "r, 3;}@5(3-'
R= 3080 .hei'.f"}rf;?»ﬁ)jw - 56’?
w much interest did he earn? y

3860015 - 3000 ="88L.19

has a Self Service Account from the Bank of Atlantic Canada, during th
rew $50 from a Royal Bank machine, purchased $100 worth of traveler:
ne bill using internet banking, and wrote 14 cheques. If his balance w
id he pay in service fees? (page 96 will help)
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